cD <
gl 2 v
I
-
EARa =~ U‘lw)
z8 gz Tew
s g o - o<
: =
.o nx u F
233 8 =
2 €L o
i xne 3
T E [
g x2
o 2 g m =
%50 g
A-18b z tabl. T-2 ERT i Y
przeniesc w km 42+850 £z 2 & g
~ p L
1) & W x
s 5% Ve
m =
P 28 I
< £ 5 ] ' £
35 2 e = @ & % 1 R i
gk s Q ™5 e nE Voe I
Fog & as ° 3 - 1 l;
?1.5 a . 6 '-"g' P Vi
. . g ?
rr'r? 991‘9 er'.:@ ;afp? '3‘33 a"e? | 1029 69':? !9'!? 'r 19 S = el

i | !
B-27 przeniesc - T
tz'rse‘:"?ﬁ w km 43+415 & § “ ihﬁ .

TP TAILTRIY Tqﬂﬁz L8R R m i o N B A

6 OELES 4
Lf’ zi’—' Lid i Ldo trdfag ol _|_L¢f4igﬁ IR - LTL. ;sﬁf’"‘@ A-LLf

W Ec:m‘z-d

L ol
LLJ_I

acoB

ST T 3 16 I ‘ ' PO B ALl 58 Vo 2 d
I ! - - .= s i Fe g Tk = "~ P 3 gE SR ol %
| a ; ; pee et —— Q_...._..‘.,‘_\\\ = == T "“‘_5!- T 7 b — ‘(._.L - - / ) 5gl a__
T S —— I N S . oo iSts___ SC) L3 *4'iwa«“_ P 5 & PP i a0 ) S ]
= = -~ L 27815 e A RS : SEEP e
L L L L S L L S L L L —|r5$1| rr rvquqac »
o e e L{ ~+gir=g I—éﬁf-"ﬁﬁ“ S R e ‘mé;y

G
EL[LLLhLLLLLLLLLLLLLLLLLLL#L4L4 1178 4E§ﬁ4LLLLLLLL

p % ; 12 28 ; v $I6m (&6 .
169’63 89 o) ﬂrm@ ety Lo} — 29 6o 0 [ag e = =
_________________________________________________________ ——

Y

128 £ weyseigpo
(wigz 0} W IoH - so7e.

1W0Z's) g 1o - somesedes

HOMN gy
25 § WeNSB|qpo 2 ALBzo

‘.\
2,
nE \%
®
] | .
= s
c
3 - S
) A
L
proj. aktywne

£98+Z Wy M
29-n
$-n a3sfatw ~
L~
g



